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-1 (e | ; il g
sfb?-dac | -bavbiodmel y L 7 gec | bR dac : : g-ablaganl 1

2a i 2a ! i Quadratic formula is:
0 l 3 =@ ] 44 e JYIxI=3] 2
4 s , : 'Solution of | x{=3 is: ' i
Jaierd [ Jl“uif'ﬁ' xudfd}—hb‘/é Janlg# u»z y>zaHa x>y ),h:_'-a': zalyex J'#ng;lj:ri 3
ey e [ ‘LEW of MU]ﬂF]iEﬂII"I"C .'.d,’."k?f x>z ;
Transitive property]  trehotomy property of | Agditive property | For any three numbers x, y andZif x3y and |
: s +8 inequality : ; i i : k
L of inequaliry | Eq_. / i of inequality y>z then x > z: i
I 3 l 2 | 0 :ggi_.)[.é./?}"ﬁ_;w,s 4 !
| _— | The number of metheds ta find L.C.M are: | |
T x-ppiedxed | C s 2 +2x+4) A e gl S| B
= —— E — l . 4 ; : I I
P (x-(C+2x+4) D (x-2(x-2x+4) B |Factorizationof ¥ -8 is: ; !
| a -a 1 | 0 i € P®) g 42§ PO X3 1) 6 |
| , ! o7 {If X292 is a factor of P(x) then P(a) =:
2’ -3abla+b)+b’ | a+3aba+b+b’ i i 7
© adsdabla-b)-b* - | D a’ —3ab(a - b) <b’) B |
r 1 i ) -'cl_..g-.ubl nfa = a% r’ﬂ;!_ﬁ» 8
: 2 7 0 0 ! it |
i ‘_/2‘,' infz =gn isasurd of order: i
?-_ 3 t? - I 5 = .y - -t 3 - |
| 1 o ig-dﬁ..':.-f J..’.-_ftu CHintteEsl 9 !
! Zero Negative Posi / i A point in 4th quadrant has its ordinate: ]
[ = T
o - 8§ B i) 10 |
i 2 rea of semi circle is: |
: ' 5 =]
sl 23 L Sy Eidbsthd B L e yuLil el 1
o : _ , ¢ joining one vertex of a triangle to the mid 5
Side bisedtor Median Altitude Angle bisecto of its opposite sides is called: , i
- : = = !
o 360° 270° | 180° | 90° e bkl zis| 12|
' | A straight angle contains: | i
[ ; In matrices (AB) =7 . |
r i i 5 0 |
R 1/ g | S| i A :g&f '_0 5J i 14
! . Rectangular | 2 . 8 Ok | I
| Null matrix S— i Row matrix Scalar matrix |Matrix [ g s | iscalled: i i
L2l (-1} (+i} (y i e JExT=1| 15
[ {Solution set of X~ =1 is: i
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Express in the simplest form Jia7 .

If P(x)=2x3+2x2 4+ x =1 _ then find P(-2).
What is meant by factor theorem?

36d2 -1

Factorize:

Factorize: X2 +9x +20

Find H.C.F. by factorization:  dabc® |

Find L.C.M. by factorization: ~ 2ab, 3ab

Find the square root of: 49x% +112xy + 64y

Write short answers to any SIX parts,
Define equation. Give an example.

Solve the equation: Ix+ % =2-x

Solve the inequality: X-753-2x

Define quadratic equation and write in stdndard formg

Find solution set by factorization:
Write the methods to solye quadratic equation.

Define diagonal matrix£Give one example.
5 2 [
IfA= [3 4] Y 4 =|_3] then find AB.

2z
fFA= [_3 _,4} then evaluate det A.
Write short answers to any SIX parts,

Define parallelogram.

Define radial segment.

Define major segment.

What is meant by medians of a triangle?

Define common tangent or external tangent,

(&dk)

“Zabe? | 8a’bc , Gable
2ab . 3ab , 4ca

@ NGk -4)=0

........... .‘/.‘U!u f‘wu' » A
best (S 2
60 4 F & 02:10 :=3 FRD- Gi-16-20
( Part-1 Jildaa )
Write short answers to any SIX parts. -ef...w,»’ﬁ,mg.—_ljf
32xy’ Syt
Reduce to the lowest terms m;‘)‘j -G-{, —dx 2 9 (@

_a‘fur:.}’:,g/ﬁ NPTR

-‘.éf’jy P(=2) Ju P(x) =2 + 2x% + x -1 fj Gii)

el SEL (v

364% - | L6 W)
X +x 100 B gEuf o)
P e Ak (i)

i PSS A (vili)
WOx* R 2xy+64y7 gt (ix)
e g 3

B LigE b bl (i)

3)(4-‘3-—2 X ;-érul'f.;.l,l,.«; {ll:‘
x=7<5-2x g Hamad (i)

& :..Jr’u,.-_l.a-.uls‘:: - /Jd‘::,h!.—-';_;;.u: (iv)

@+ DX =4 =0 Loy S fuh  (v)

-{;_fi.é’__)d:i,fwfwiﬂ/&m: {vi)
& e LlE W PSSR (i)

-SEp# AB n B =[§] s A ={§ Tj Ji i)
e d S detAdn A [ ; _,,j Ji(ix)

T Y P
Ay (ST )
Sl e st (i)

e o e (i)
festpfe g lbal sl (iv)
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Write the formuia for area of a semi-circle. . Ll s (viy

v‘:."'.r e
Find the area of the right triangle with legs 12em and 3Sem. (2735 o (12 Libtndl gl b SN EE WA (vity

Describe the location of (7-~5) on the number plane. : b SEut (-5) i (viii)
Define non-collinear points. & qf/"’-dltﬁblf?/! (ix)

Ui 08 Ll - felizl e () (gt aan
Part - I, Attempt any THREE questions. Each question carries 08 marks.
3 1 : .
L KZ*;‘:U:’ X ~%mx= 293 1 (<)

1 i
Ifx=2+ ﬁ, then find the vajues of J‘('"; and x2+“x7

Factorize: a’—b’—a+b a’ - oG ¢ b f{.':d;{ (i)
Find the square root of : x*+y?+2%+ 2xy +2yz + 22 é,i:l‘:l":f» (S
Solve: %(Zx +3)<(7-4x) %(2.:{ +3) £ (7 -4x) i-:.‘f:up ()

-& 74 ;r’fu’uﬁ/;ﬁwﬁérMme;;&';yu ()

Find two consecutive positive odd numbers suchthanthe sum of their square is 74.

KT B Pkl (L)

& | r
3%=QASB _g:é“[-#qu;,fB{% ngJ,EA:Lj ﬂ;‘?(.ﬂn)

Construct a square whose one side is@5¢.

2 3] 2 -
Solve the matrix equation®for Xap3X -2A=B if A= {_4 ]J and B= [4- 3]

x+3y=1; 2x+8y=0 :é.{‘uw,r{",;.,wwc_@)‘gﬁf i)

Use Cramer’s ritlg to solve the linear equations:  x+3y=1; 2x+ 8y =0

SRR e 23720 d’lfs'ubﬁft.?"-,-'f 12320 b (L)

Find the radius of the cylinder with volume 12320cm?® and height 20cm.

sEBACT D) L BG D L AL D 4ol (L)
Show that the points A(~1, 1), B(3, 2) and C(7, 3) are collinear.
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